Precalculus: 1.3. FEquations and Graphs in Two Variables Practice

Questions

1. Determine the distance between (1 + /2, —2) and (1 — 1/2,2) as well as the midpoint of the line segment joining the
two points.

2. Determine the center and radius of the circle 2 — 3z + 32 + 2y = 3/4, then sketch the graph of the circle.

3. Write the standard equation for the circle:
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4. Show the points A(—4, —5)m B(1,1), and C(6,7) are colinear.

Hint: Colinear means lie of the same line, so if this is true what must the relationship be between the distances AB, BC
and AC?
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Solutions

1. Determine the distance between (1 + /2, —2) and (1 — 1/2,2) as well as the midpoint of the line segment joining the
two points.
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2. Determine the center and radius of the circle 22 — 3x + y? + 2y = 3/4, then sketch the graph of the circle
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3. Write the standard equation for the circle:
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4. Show the points A(—4,—5)m B(1,1), and C(6,7) are colinear.

Hint: Colinear means lie of the same line, so if this is true what must the relationship be between the distances AB, BC
and AC?
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